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AN - I (PART - 1)

[3]

[A]

91 {9 9 AR (CHILD DEVELOPMENT AND PEDAGOGY)

3T : R g7 % a7 &7 & [ qag ST [Awey g

Direction : Answer the following questions by selecting the most appropriate option.

1.

g

|

frfafed & @ @W-a1 T FEN

s &l fQarel wd i & Hed

T T FI S 7

() Fédem el afm &t ge @&
U ® ¥ Gedar & 2

Q) MR oH fRem & = &
foepra @ FomEr 3 R

(3) MR da@ = & W B
gmﬁaﬁﬁmaﬁmm
|

(4) fEem et afm @ ot W
g T & § GeEdl HET 2

& G Gaedl B A B AL,

T el & ?

(1) WEds feias

(2) SAIYROMHS e

(3) g feio

(4) TAEATES feid

frefofag & § #8991 @& &N

Aqra=rell @ fadvael & w<d § Taq

HIT & ?

(1) HFT qrarelf & Mg B 2|

(2) HEAN ST B B

(3) A9 & | AL QI I8 AR
gaﬁwéaﬁrﬁaﬁr%ﬁwﬁr
|

(4) SEER SMad & AEe 9@ A
Fif% I TE B Alah G
& I B
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1.

[

o

Out of the following which one is

the wrong statement in context of

characteristics and nature of guidance ?

(1) Guidance is assisting the
individual to adjust himself.

(2) Guidance is promotion of the
growth of the individual in self

Guidance.
(3)Guidance is  helping the
individual ~ himself  through

others efforts only.
(4) Guidance is assisting an
individual to find his place.

A type of thinking in which one's
interpret sensation with experience is
known as what ?

(1) Reflective thinking
(2) Perceptual thinking
(3) Creative thinking
(4) Critical thinking

Out of the following which one of
the statement is wrong in context of
characteristics of sentiments ?

(1) Emotions are the basis of
sentiments.

(2) Sentiments are innate.

(3) Sentiments get older with the
passage of time and they may
even change their state.

(4) Most of the animals do not
have sentiments because of they
do not have intellectual
comprehension.



[A]

|

g

[~

|

frafofag & @ @9-8 oo
e @) faQisar 78 ' 7

(1) fqaeg a9 @ < &0

(2) g9 31 T IUBTH HIAT

(3) T

(4) X @ § e
Frffad 3 & @9-91 T 9950 &)
s SIS |50 SR ot o A O o
HaHHh  ARTE B Fa dlichd

(1) SEINTHS:  —  IRUTHS —
SRS — IATEA

(2) EYNTHS —  ARERUIES  —
YLUIH — dcHlar

(3) ANPRTHE — STAUNHE —
gROTHS —> I

(4) STAYFTHS —> YRS —> Seared
—> STREROTHS

Ig fhad @er [ SAfRd TEe
AR afsta wgkt & am &7 7

(1) "fféq B (2) it

(3) AT (4) ded
frfofag & § f9-a1 fom & Hed
T /g U B 7

(1) fawma & oftadw ffeq &ar 2
(2) foemmETeT® Yot IgEigAd B gl

(3) IR [, ugEEd faea @
qo § SURT Gl Bl o

(4) @ URUFEAr T A @
i A o | B
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4. Which is the oldest method for the
study of behaviour ?
(1) Experimental method
(2) Clinical method
(3) Psycho-physical method
(4) Introspection method

g

Out of the following which one is
wrong characteristic of Delinquents ?
(1) Damaging school property

(2) Bullying and mockery

(3) Torturing

(4) Aesthanic in constitution

|®

Which one of the following is the

correct logical order of observational

learning process according Learning

Theory of Bandura ?

(1) Attentional — Retentional —
Motivational — Production

(2) Attentional — Motivational —
Retentional — Production

(3) Motivational — Attentional —
Retentional — Production

(4) Attentional — Retentional —
Production — Motivational

[~

Who stated that "Personality is the
sum total of innate and acquired
dispositions" ?
(1) Mortin Prince
(3) Valentine

(2) Allport
(4) Cattell

|

Which one of the following is false

statement in context of Development ?

(1) Development involves change.

(2) The development pattern is
unpredictable.

(3) Early development is more
critical than later development.

(4) Development is the product of
maturation and learning.



9. WERHAT NG &7 ¥ TEgH q I
2§
(1) Qgraraean §
(2) SUX e H
(3) qd s |
(4) fopsmRra |

10. Frafofed & & d9-@ w6 fvaag
gﬂfﬂﬁqﬁﬁmﬁaﬁ%awﬁ%ﬁaﬁ

(1) HeTTcae Sishand

(2) Iam

(3) &Yl TW /ARG SR AR
BB

(4) IRad & T AR gHed

11. fpdi & g Y99| & %Es. |
e awaifer fopam B 7

(1) SNETH @ qivy
(2) ST AGT A"
(3) @UH G

(4) TeiRan &t s

12. HH-FA dfoel T & s
AU AT b o H BH GRS b
) T Ad & OTfal SHHl % I
B &, d8 dAMHA & DA Ew
FEA &

(1) JIFEA &1 FEw

(2) =T o0 R

(3) u1g 9 g welt & fm

(4) G F1 e

Level-2/205

[5]

|«©

[A]

Girls surpass boys physically in :

(1) Infancy

(2) Later childhood
(3) Early childhood
(4) Adolescence

Out of the following which one is
the subject matter for study of
Gestalt Psychologist ?

(1) Cognitive processes

(2)-Consciousness

(3) :Mental and behavioural
processes a wholes

(4) Modes and  problems of
existence

11. What did Freud consider the paternal

love of girls ?

(1) Oedipus complex
(2) Electra complex
(3) Narcissism

(4) Feeling of dependence

Sometimes the children of gifted
parents are born with less intelligence
than their parents or vice versa,
which Law of Heredity is called ?

(1) Law of Regression
(2) Law of Selective Traits

(3) Law of Maternal and Paternal
Lines

(4) Law of Chance



[A]

13, Freffad ¥ @ A8 s

o
YR AfRde @I AT & ?

(1) g oY Aaeiis
(2) T Afsd @9 § a
(3) A 3 Ty RS & g9

(4) T AR # 9WE A g 9
TR AT

frfofag & @ #9-6 & I T

‘%‘Hﬁﬂ R’ &) wed @& e
?

(1) RRFg —» RS A —
A fRafa

) IR - TFfE Rl —
S INECRSIR RS

(3) TRRAfT — IS AvE —
AR fRafa

4) gy - "=FE Rafg © —
QRS ST

Freifafad & @ $E-8l, 06 oT=efe
% fagar 78 ¢

(1) STTRRHFT

(2) e qRRET F TR

(3) ITed §

(4) STIFRAT B HesTdl & Bl

frffed & & $9-T 0% geremsnar
B STERT MST N Sl GiEAfedd
Tohich § Siauied 78 @l ® ?

(1) G STwHiferr
(2) GHF a% B @i
(3) ¥

(4) Hepeaer femfor
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[6]

13.

Which of the following is the
characteristic of introverted thinking
type personality ?

(1) Realistic and Practical

(2) Absorbed in his own intellectual
pursuit

(3) Supports theory with facts

(4) Propagates his views
insistence and vehemence

with

Out of the following which is correct

sequence, given by James Lange's

"Theory.of Emotions" ?

(1) Situation — Bodily disturbance
— Mental state

(2) Situation — Mental state —
Bodily expressions

(3) Situation — Bodily expressions
— Mental state

(4) Situation — Mental state —
Bodily disturbance

Out of the following which one is
not the characteristic of insight ?

(1) Incidental

(2) Response in novel situation

(3) Habit strength

(4) Response spontaneity

Out of the following which one
i1s not the stage of -creativity
prescribed by Gordon in his
Synectics Technique ?

(1) Detachment involvement

(2) Finding something similar

(3) Deferment

(4) Concept formation



17.

frfafeg & @ @9 % OQwa

gﬁw&nﬁa&ﬁaﬁg&@m 72l
?

(1) asit § R TEF @ g 2

(2) BT gHRTE A B TR B B

(3) gd TER &H SAEHNE WA §
R s § SR = S

T 8 2

(4) S FB IBA G A QT & 4
TRHIN TG & U € 95 |
P METHAT BNl B

ngﬁﬁwmmwgﬁﬁﬂwam
?

(1) 10 9 12 a9

(2) 69 12 a9

(3) 11 ¥ 16 a9

(4) 8 § 10 T

Frefifad & & @M@ & g &
fsaresT aiieror & YR J@ ® 7

(1) Tt STl gereT

(2) P P A6 (SO AT

(3) 9 o/ gheeT

(4) U TART GO

S g & FgER == oy
T H ST T i A © ¢

(1) 67 839
(2) 89 10q9
(3) 78 99
4) 119 1499

21. I8 fhOT FET o1 6 ‘U AR I

U d gREAE BT & Riom d
I T 9 o & e T 8 7
(1) T (2) feawEts
(3) sihEH (4) I
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[Z]

[A]

Out of the following which one

characteristic not suits to gifted

children ?

(1) Learn rapidly and easily.

(2) Perform difficult mental task.

(3) Knows about many things of
which most of the students are
unaware.

(4) Much drill is required to retain
what he/she has heard or read.

What is.the age range of puberty
stage 2

(1)710. to 12 years

(2) 6°to 12 years

(3) 11 to 16 years

(4) 8 to 10 years

Out of the following which one is
not the type of performance test of
intelligence ?

(1) Army alpha test

(2) Koh's block design test

(3) The cube construction test

(4) The pass along test

According to Jean Piaget between
which age the child develops
abstract reasoning ?

(1) 6to 8 years

(2) 8to 10 years

(3) 7to 9 years

(4) 11 to 14 years

21. Who stated that "An individual is

intelligent in proportion as he is able
to carry on abstract thinking" ?

(1) Terman (2) Dearborn

(3) Buckingham (4) Calvin



[A]

22.

T & A g Hidie god
qIfeal @l STEC bl Bl TshAT B
I PEd B 7

(1) giafe Rearar

(2) HidREE Hagagiadr

(3) @iafes fa=m

(4) Giafe ame

23. F=fafad & @ #9-41 w6 Tl

fe Suge 7@ & ?

(1) e aferan faener & ARaget Rafa
e BT

(2) ot & uel & SR &

(3) 9 FHEN
(4) Fem ¥ fm-fomst

A e ge51 ghEer ¥ fhAn Fe
freifRa & ?

1) 12 2) 10
(3) 30 (4). 31
25. JAfrp wEIfeE @ M @ w9 F R
ST ST § 7
(1) 3o Tdo UMSES
(2) St
(3) &&ie
(4) THie

QREMc® THle B STA=hR e
foba o ?

(1) So 3o ToeTET

(2) So TFo HIRA

(3) 3o Hlo TAH

(4) Sfto THo HMIX
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[8]

What is the process of releasing the
hidden emotional suffocation and
powers inside the children called ?

(1) Emotional stability
(2) Emotional sensitivity
(3) Emotional catharsis
(4) Emotional competency

Out of the following which one
activity is not suitable for satisfying
the instincts curiosity ?

(1) Awarding positions in the class
or,school

(2) ;Answering the questions of the
students

(3) Problem solving
(4) Discussion in class

How many cards prescribed in
Rorschach Ink Block Test ?

(1) 12 (2) 10
3) 30 “4) 31
Who is known as father of

Educational Psychology ?
(1) E. L. Thorndike

(2) Pestalozzi

(3) Herbart

(4) Froebel

Who invented sociometric technique ?

(1) J. E. Anderson
(2) J. L. Moreno

(3) E. B. Hurlock
(4) G.S. Marmor



21.

URFET & AR AR & FHIGMHINTD
faepre @ AT STeem - R ?

(1) SFMEdT §9M 3

(2) Y9 SAM YA Hife
(3) U B 9™ B
(4) SN I RERar

@B e @ Be-H
AT I ‘T dRuFEar STaRl Fel
S g ?

(1) raraeen

(2) SrEET

(3) fopeTaeen

(4) et

29. W HE ek AU Rl qen Rl

H el T TR A & oTgEd S
& HX I & T T8 IFIHT B
e B, O 39 TER H R
SR Sl V& giekT el § 2

(1) TR

(2) T

(3) Sfifera e

(4) e

frefafag & @ S9-a1 SEen &)
g 99 9B R 78 B ?

(1) STt & HH

(2) g
(3) W I
(4) BHAT

[91]

[A]

21. Which is the fourth stage of psycho-

social development of an individual
according to Erikson ?

(1) Intimacy v/s isolation

(2) Identity v/s role confusion
(3) Industry v/s inferiority

(4) Generativity v/s stagnation

According to 'Ross', which stage of
development is known as 'Pseudo
Maturity' stage ?

(1) Infancy

(2) Childhood

(3) “Adolescence

(4)” Adulthood

When a person tried to make his/her
thoughts and action according to
other whom he like to follow, then
this kind of activity called which
type of defence mechanism ?

(1) Identification

(2) Projection

(3) Rationalisation

(4) Displacement

30. Which one of the following is not

the common
childhood ?

(1) Depletion of Energy

speech disorder of

(2) Lisping
(3) Slurring
(4) Stuttering
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[T - II (PART - II)
A7 (= g 3fSH) [ LANGUAGES (HINDI & ENGLISH) |
f&=t (HINDI)

3 : R 797 % Go7 &7 & [T qag ST [dwey g

31.

fheg  wEaEs g @& fE
AfeRTaTe e § g 8 7
(2) BT
(4) AIqc

(1) S
(3) T

32. [ fecq § ‘dhaed®’ a@d & ?

(1) Bram a3 = 2

(2) A A el @ & =

(3) B AT & B HEH N B S
(4) TS YA HAA B B

33. U @ 3 @ A = H W@

R ?

(1) A - T
(2) FET -
(3) femiiT - &4

(4) qgUT - A«

34. GUE-FE # e § IH-AT A

gaTe ?

(1) BIHET - & q I Il B
(2) 1T - 9 & 9 o arr

(3) RAWIKRT - I & TR AfKT

(4) ggEie - 9y & Qg
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35.

Fret & & di9-a1 9= ‘off’ Sue @
ffg 78 ? °
(1) g
(3) oryfed

(2) g
(4) SFFTH

36. M9 H 8 59 ey &1 F9 Tod

g7

(1) S H I=RO ©E o B

(2) faert @i @i o A aen |
P WA B

(3) @ AR T B} od WX o Fa
S Bl

(4) ‘g A ‘@’ e aot wEw 2

37. 59 oy & ol 9= fRew 8 °?

(1) drotars, AiH, &
(2) FRIR, SARTIENRT, FHE™I

(3) FAH, STHHH, TeEaR
(4) T, e, &Hel

38. TgigarEl v=a & ded ¥ oG faeeq

ﬂﬁQ:

(1) Si9 - 9=, TE, Al

(2) SEFHR - 3, T, 7%

(3) fBRT - AW, @, g

(4) #reT - B, Aggd, SfERy



39.

41.

42.

fpe are # uRwcEEE e @
ST B3 ® 7

(1) F it e T g

(2) 3@ 9 99 # §gq A FR
(3) T & NEM =T 2

(4) RAS T8 T o

40. ‘fqufy & 99g A GeEar SS90

B & SH A B elh Qi
gﬁﬁ{:

(1) S99 & [FS & TR

(2) gul AR -}

(3) R R @t drest BT ST T
(4) AW & AW Sl & aH

g A § W el o o ?
(1) TR §&T% 98 Tel a8 ol

(2) & SO A #R @ g

(3) FEm +ft @mn &, e B

(4) W B FB A IR T A @

foeir s @ gfe @ ogled g™
TR

(1) 9 - 9%

(2) R - Fe=ERa
(3) feqa - wfer
(4) 7YX - =g

[11]

43.

[A]

B & d€q § @9-w FW oglaa

g7

(1) Pl gg% W e w® a1 -
CELCNER|

(2) T 9 P 9 fored Bl -
faeprien fopar

(3) s & AR 9" W R -
REXCAEDI

(4) T2 foEed § SThK @l @I -

s Be

44. g e ¥ die-fase ogfam R ?

(1) /Sieedr = afe: + Thdl
(2) e = omsfl: + a=
(3) TR = + I

(4) qUETA =T9: + FA

45. 91§ @ 59 Yeer & Y g 78

g7
(1) & WX Bl ARAT -
B G T
(2) SEIE S BIAT - g9 Bl S
(3) R 1 GENT U q% ST -
o TRHH HEAT
(4) gt H S B - qE GAH B
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[A]

6.

Select the correct option (Phrasal
Verb) for the underlined word :

She rejected his request to take her
home.

(1) turned up
(2) turned down
(3) turned out
(4) turned off

50. Select the appropriate modal to fill

in the blank :
Trespassers ........... be punished.
(legal notice)

(1) shall (2) may
(3) should (4) ought to

9l. Choose the appropriate preposition
to fill in the blank :
What is the time ........... your
watch ?
(1) in (2) from
(3) by (4) on

[12]
3Rl (ENGLISH)
Direction : Answer the following questions by selecting the most appropriate option.
Choose the correct option to fill in 49
the blank : T
This pen is both good ........ cheap.
(1) as well as
(2) as well
(3) but only
(4) and
41. Select the appropriate preposition to 50
fill in the blank :
His hut is ......... hotel Taj.
(1) above
(2) out
(3) besides
(4) beside 5.
Choose the correct.meaning of the
underlined words ¢
The law and order situation will only
become worse in the state due to the
riots, if the government does not do
something right now to nip it in the 52

bud.
(1) To plan in detail to stop a threat

(2) To destroy the problem in the
initial stage only

(3) To arrest the culprits

(4) To stop something harmful in
the initial stage

Level-2/205

52. Select the correct option (Phrasal

Verb) for the blank left in the
sentence :

Cholera has
(1) broken out
(2) broken down
(3) broken up
(4) broken off

........... in this village.



53.

Choose the part of the sentence
which is incorrect :

The party president made
()
Rakesh a M. P. candidate
(b) (c)

for the coming election.

(d)

(1) a
3) c

2) b
4 d

94. Choose the part of the sentence

which is incorrect :

He did not  keep his words
(a) (b)
to pick himup  from WTP.
(©) (d)
(1) b (2) c
(3)d 4) a

55. Choose the correct tense form to fill

in the following :

I had consulted my lawyer before I
<+eveee... the complaint.

(1) did lodged (2) had lodged

(3) lodge (4) lodged

96. Choose the appropriate modal to fill
in the blank :
He ............ listen to the stories of
his Grand Ma before he slept.

(Past habit)

(1) could (2) shall
(3) would (4) might

[13]

51.

[A]

Choose the correct meaning of the
underlined words :

The hostess broke the ice by
introducing the strangers to each
other.

(1) To make people relax with each
other

(2) To make people perplexed with
each other

(3) To serve welcome drink to the
guests

(4) To.start.a game of puzzle

Choose the correct tense form to fill
in the blank :

Municipality has decided to
the overhead wires.

(1) did away with

(2) do away with
(3) has done away with
(4) had done away with

99. Choose the correct option for the

following :
One who wastes a lot of money is :
(1) frugal

(3) prodigal

(2) recluse

(4) reticent

Select the appropriate modal for the
expression given :

Harish has annoyed his boss today.
He ........ be fired soon. (probability)

(2) can
(4) would

(1) may
(3) ought to
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[14]

[T - III (PART - III)
Y 3199+ (GENERAL STUDIES)

RS ARG, it ST T4 | ST U§ SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

3 : R 797 % a7 &7 & [ qag ST [dwey g

Direction : Answer the following questions by selecting the most appropriate option.

61.

T% ar & T 66 HiX B, @ 39
IR ¥ ¢ &1 G ad 1.32 9
oY & gt @ g ©

(1) 1000 (2) 50

(3) 500 4) 5000

140 #HeXx T AWl B oA
60 fpdi /auer B, 3@ 260 Hiex @=
WeHH B URX HH F fha T
T ?

(1) 18 TFvs
(3) 30 TFHTs

(2) 24 QFTS
(4) 32 QTS

63. UH HUST fosbar 33 HicX HUST Joa,

AT W B QAT B, O QP Ay
yfdsrd ®

1) 1% (2)22%

(3) 50% (4)/40%

afk 4 g&Y a1 6 AR T B H 7
goe gfafed wd & 12 Rl § #
T ©, O SE FA G AT a9

10 g69 J&1 3 AfAN 8 IS M
P FS b & 7 QT H wH 7

() 6 (2) 7
(3) 8 @ 9
65. 7fg x:1+1\/§ '5;[, @ X +2x+3
H AN R
(1) 0 2) 1
3) 4 4) 2
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61.

65. If x=

The length of a wire is 66 metre,
then the number of circles of
circumference 1.32 cm that can be
made from the wire is :

(1) 1000 (2) 50

(3) 500 (4) 5000

62. A train.140 metre long is running at

60 km/hour. How much time will it
také to pass a platform 260 metre
long ?

(1) 18 sec
(3) 30 sec

(2) 24 sec
(4) 32 sec

63. A cloth merchant on selling 33 metre

of cloth obtains a profit equal to the
selling price of 11 metre of cloth.
The profit percentage is :

() 11% (2) 22%

3) 50% 4) 40%

If 4 men or 6 women can do a piece
of work in 12 days working 7 hours
a day. How many days will it take to
complete a work twice as large with
10 men and 3 women working
together 8 hours a day ?

(1) 6 (2) 7
(3) 8 “4) 9
1+1 7 then the value of
X2 +2x+3is:
(1) 0 (2) 1
(3) 4 4) 2



66.

7T 318X IO 1 STFIE U BT :

CAE, HFJ, MKO, RPT, ....
(1) UTY (2) WUY
(3) VUZ 4) WUZ

67. Ui ARREl A, B, C, D @ E #, A,

B ¥ BT AfF E & @ 8, C T
T T, D, B @ BlET & AfbT A 9
T 8, A 3T | B G99 BT © 7
(1) B 2) A
(3) D 4) E
U FHEGYS & 9RE 100 | R

AN ITH TH fome 40 [ B, @
ITH ATHA B

(1) 300 &> (2) 600 &’
(3) 780 ¥ (4) 900 T’
69. I ferg d@ M T & W ¥ el
forspemg & dfer @ fot & 1:3
T T g F A 2 ;5 B3R AN
fersrergett 1 fobe ergur H e S,
dfe 9 fgag § @@ qu feT &
AT 3: 8 B S ?
(1) 3:5 (2)'4:9
3)4:7 4) 3:8

A ¥ & “98 dSH JU HEel & 9
& U B, AT PE A oT¥El afes W
B1” TEH, A § 69 yR geEfa B ?

(1) =r=n 2) 3
(3) wiiom (4) TE R

71. =1 At § 7o 9E S S

135, 226, 353, 552, 739
(1) 353 (2) 226
(3) 552 (4) 739
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[15]

[A]
The next term of the following letter
series will be :
CAE, HFJ, MKO, RPT, ....
(1) UTY (2) WUY
(3) VUZ 4) wuz

67. Among five persons A, B, C, D and

E, A is shorter than B but taller than
E. C is the tallest. D is shorter than B
but taller than A. Who among them
1s shortest ?
(1) B
3) D

2) A
4) E

The..perimeter of a rhombus is
100.cm and one of its diagonal is 40
c¢m, Then its area is :

(1) 300 cm® (2) 600 cm®

(3) 780 cm® (4) 900 cm®

69. Two alloys are both made up of

copper and tin. The ratio of copper
and tin in the first alloy is 1 : 3 and
in second alloy is 2 : 5. In what ratio
should two alloys be mixed, to
obtain a new alloy such that the ratio
of copper and tinbe 3 : 8 ?

(1) 3:5 2)4:9

(3)4:7 4) 3:8

A said "that boy is the grandson of
my mother's husband. I have no

brother or sister." How is the boy
related to A ?

(1) Uncle
(3) Nephew

(2) Son
(4) Cousin

71. Find the wrong number in the

following series :

135, 226, 353, 552, 739
(1) 353 (2) 226
(3) 552 4) 739



[A]

12.

_@Wﬂzﬁmﬁﬁ?ﬂ%
o B

Z 5,000 W 12% oIS =T $f &< 9

2 a9 & QENY AN T Bhals A
§ =Y B

(1) T72 (2) T84
(3) 296 4) 36
a gl # I 520 B, 3k S

:t:l)

S "e @ 4% FH H QA AW
AN BA A 12% g1 Rar o, @
Wa@mw@‘ﬁ,eﬁwﬁ@

BIdl G § ¢

(1) 210

(2) 240

3) 270

(4) 300

fr=fetied

FHITT
G4T, J9R, M20P, P41N, S90L

(1) J9R

(2) M20P

(3) P4IN

(4) S9OL

I H TFF IR S

& AT 19 )
et @& 79 545
T {6 ©

(1) 361 &%’
(2) 286 T’
(3) 236 &k’
(4) 340 Fh°

§ TR
SR el
o B, @ 3g
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[16]

12.

The difference between simple
interest and the compound interest
compounded annually at the rate of
12% per annum on I 5,000 for two
years will be :

(1) T72
(3) T96

(2) ¥ 84
4) 36

The sum of two numbers is 520. If
the bigger number is decreased by
4% and the smaller number is
increased.by 12%, then the obtained
numbers. are equal, then smaller
numberis :

(1) 210
@) 240
3) 270
(4) 300

Find the wrong term of the following
series :

GAT, J9R, M20P, P41N, S90L
(1) J9R

(2) M20P

(3) PAIN

(4) S9OL

75. The sum of length, breadth and

depth of a cuboid is 19 cm and its
principal diagonal is 55 cm, then
its surface area is :

(1) 361 cm®
(2) 286 cm”
(3) 236 cm®
(4) 340 cm®



11. TEH B T G H,

4) IfRT-uiEm

A
154 qer B @i @ 4
g, Td AT BB HA
C, A & THeq Tt &R ¥,
Rafg st R @ M2 ?

(1) odf
(2) 10dt
(3) 124t

R
-H g 2
Rl Ser 8, 36 dE g8 SaX fau
I geat 4 fdl @@ 31 o a8

yRfe farg & feal QX @81 & 7
(1) 5 et
(2) 6 Tt
(3) 3 feit
(4) 4 et

ge W = 23, STRONG = 93, I
WEAK X & :

(1) 40
(3) 43

od, =
zp-’*‘

2) 41
(4) 44
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16.

[A]

If a person walks 8 km towards
South then turns right and walks
8 km, again turns left and walks
10 km. In which direction is he from
starting point ?

(1) East-South
(2) North-East
(3) North-South
(4) South-West

71. In a row of boys, A is 15th from the

left and B is fourth from the right.
There are three boys between A and

B, C is first left of A. What is the
position of C from the right ?

(1) 9th

(2) 10th

(3) 12th

(4) 13th

A person walks 2 km towards East
and then he turns to South and walk
1 km. Again he turns to East and
walks 2 km after that he turns to
North and walk 4 km. Now how far
is he from his starting point ?

(1) 5km

(2) 6 km
(3) 3 km
(4) 4 km
79. If W = 23, STRONG = 93, then
WEAK is equal to :
(1) 40 (2) 41
(3) 43 (4) 44



[A]

0
o

)]

(2)

3)

4)

81. HAfeql EaEl & fGaE & R W

‘qeguE] e SFF o & ded A
S At TR E

(1) 11,000 &9

(2) 21,000 9

(3) 31,000 T1

(4) 51,000 51

1857 @ NI & W& SIGEAN B
REC-HDIE

(1) =TT |

(2) BHETR 4§

(3) =} |

(4) IR 4

83. HXay, 2021 ¥ iR ‘3631 UK

AR Tudiferd AftqeeRm § sRarn
759 1 fhae @ e o ?

(1) 13
(3) 21

(2) 18
4) 24
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80. If 5a+L:5, then the value of

3a

9a’ + 18 :

25a>

(1)
2

3)

39

4) 5

81. The amount which is given to the

82. The

sports woman on the occasion of
marriage  under  'Mukhyamantri
Vivah Shagun Yojna':

(1) Rs. 11,000
(2) Rs. 21,000
(3) Rs. 31,000
(4) Rs. 51,000

hero of 1857 Revolution
Abdurrahman Khan was related to :
(1) Bahadurgarh

(2) Farrukhnagar

(3) Jhajjar

(4) Yamunanagar

83. How many gold medals were won by

Haryana state in the '36th National
Junior  Athletics Championship',
which was held in February, 2021 ?

(1) 13 (2) 18
3) 21 4) 24



84.

fr=ifeifeg & @ N eRamn & gatfas
erafy & forr Toguw @ § 7

(1) o TIo kil
(2) To #Ro freds
(3) ST qeTiedr

(4) T 48 dide

85. BRI Wit oTHEH & SR H

FNTIRGT FIE PN qfed -

(i) JeIw=l ARl & A & &Y
P HA o

(i) ‘sTeter STweHr S IS Bl

el T g :

(1) Pad I (i) Tl &

(2) Pad B (i) TEl 2

(3) T & () A 7 & (i) T B
(4) A9 HIF T E

‘Tegdl’ e e eRamem # @t
Re 8 7

(1) gotaa |

(2) Sfaren |

(3) &9 ¥

(4) SewTe |

TeiprT S e’ e P # R B 7

(1) Hoad
(2) e
(3) BER
(4) Rar
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[19]

[A]

Who among the following was the
longest serving Governor of Haryana ?

(1) B. N. Chakraborty
(2) A.R. Kidwai

(3) Jagannath Pahadia
(4) Kaptan Singh Solanki

85. Read the following statements about

87. In which district

Haryana Sahitya Academy :

(1) The Chief Minister serves as the
President of the academy.

(i) 'Harigandha' is the Magazine of
the academy.

Choose the correct code :

(1) Only statement (i) is correct
(2) Only statement (ii) is correct
(3) Neither (1) nor (ii) is correct

(4) Both the statements are correct

86. Where the 'Panchwati' pilgrimage

site is located in Haryana ?
(1) In Palwal

(2) In Ambala

(3) In Hathin

(4) In Ballabhgarh

the 'Chinkara
Breeding Centre' is situated ?

(1) Kaithal
(2) Panchkula
(3) Hisar

(4) Bhiwani



[A] [20]

88. BRI @ T Elﬁ'ﬁl?{ | NSRS 88. The minimum number of members
B Whd © in the Council of Minister of
Haryana can be :
(1) 10 2) 12 (1) 10 2) 12
3) 14 4) 06 3) 14 4) 06
89. ffafad & ¥ IW-A1/HA-9 Rl 89. Which of the following pair/pairs
7el /27 is/are true ?
(i) =9 9g — el Ul (i) State Animal — Black buck
(i) G a9 Sig ARG — o (i1) Saraswati Wild Life Sanctuary —
(iii) TTER 91 G ATART — oo Kaithal
(ii1) Nahar:Wild Life Sanctuary —
Jhajjar
i 5 Eb-r A T Choose the correct code : ”
() 7 @ (1) 1Only (i)
(2) (i) S (iii) @) (i) and (iii)
(3) (i) & (i) (3) (i) and (ii)
(4) e (iii) (4) Only (iii)
90. f=foifaa @ ﬂ'ﬁﬁﬁ HITT : 90. Match the following :
aH 1 Name Place
(A) SREd @ 1T 78d (i) SIS (A) Birbal's Rang (i) Narnaul
(B) atreatic (i) BT Mahal
SPRNE (B) Spiritual Museum (ii) Gurugram
(C) I} NSE] (iii) IFTTR (C) Chor Gumbad (iii) Yamunanagar
(D) Hres @ e (iv) IrId (D) Sohna Fort (iv) Panipat
Zc: Code :
@A B’ © @O @A ® © @O
(1) ) @) @av) @ (D @) @) @) @
(2) ) @Gv) @ 1) (2) () (Gv) @ (1)
(3) Gv) @Gy G @) (3) Gv) @Gy @G @)
) @) @G @  31v) @ @) G O @)
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[21]

AT - IV (PART - IV)
3¢ (URDU)

[3337 : [Fiferea 9ol % T @7 & kg @ad afed A% gy -

[A]

- “‘Q&U’J}I/‘JE;A'%M@/‘I/‘J@” .94

ey
AW
§1a00 (2
oE B
$Hif @

¢ oUW Eugus .95

L 2R Bl e AU foue .96
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3)
4)

)

2)

3)

4)

Spdu
Jas
%

;.J,,G
ok
R
s

yaz

i

doe?

ul‘)Uﬂ

¢ ‘Lgd&?d/’}g ‘?Ul..fog/&;'” fb .91

)

2)

3)

“4)

¢ L2y e UJZ/ﬁL/de/Ji/]J .92

(D

2)

3)

“4)

¢ Le?gﬁftu;t{d;gt’,,fb:ﬁ .93

(D

2)

3)

4)
P.T. O.



[A]
CUFVL =
el (1)
= ()
§f 3
=i (4)
¢ < ST Uiy LT
Eeel )
CP e
AT )
YN e
?ﬁ;b@%&ﬁf&u;KLuﬁg
e
He @
A2 (3)
SILAE @)
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.100

.101

.102

[22]

¢ &L nlgulii
Al (1)
=

AEs (3)

Z NG
Tl by

G ZIE O
gkl (2)

winfl  (3)
AL @)

¢ UL e s

el lulz (1)

¥ ©
gB)
o4

.91

.98

.99



¢ el Sty BRI

Yyl
o
Y

ﬁ%} I

(D

2)

3)

4)

¢ e /LK UBEIE It S i
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(v,
42k

[y

z

)

2)

(3)

4)

¢ LU sty K

Ry x
SR

/l?/jl,u’/

)

2)

3)

4)

.106

.107

.108

[23]

L6
LESSnS
Sy o

LeE UL

[A]

¢ éﬁ‘gwiét{ﬁl{kﬁg 5,103

)

2)

3)

“4)

f e ofReSU” L8 104

P

S

—X

)

2)

3)

“4)

L SR GBI S ok 105

)

2)

3)

4)

P.T. O.



[A]

?ﬁ;rtﬁiétéiuﬁ/LLAA’ 112

£y (1)
Jéy Q)
EP )

367 @)
Bt Pl ddsb
e (1)

L2l (2)
L (3)
Bk @)

¢ e ST T
JHri )
28 ©

vA 3
Fow
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.113

114

[24]

?g;dﬂ%ﬂjf‘&g’fg
Seker )
CUAE @
$2H 0
Fuil @

¢ ein%qugLf/‘ﬁ>§2:«J?%U” fy

Tleos (1)
IR Q)
S22 G

S @)

¢ e SJEIIAL
1892 (1)
1958 (2)
1976 (3)
1983 (4

.109

.110

111



?lnqu@NK&@N

Jw (1)

()

ez (3)

Uil (@)

C e B

Aot srided o
-+

W Lo e e Ud=d @
_UZngZ_)j}?/l:ﬂ’

—ed U EU, B

el e bt (4

¢ d//;lbﬂiigcgj/é_(k/ﬂ

S Fesbrctd (1)

S S Bkl b ()

Jurikeir @)

J L/';,o Sl Dj JJ;,J I J? 4)
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.118

.119

.120

[25]

[A]
¢ +JﬁdﬁKJ U 35T 18
S ()
MA@
d)gm;v 3)
St @
oYU wier 116
F oo
wr @
P NG)
St @
¢ +rtg}ﬂK/@Jﬁy 117
J‘l; (D)
LA @
diw;v 3)
a4
P.T.O



[K]
¢ sl dL S LTI

digm;v (1)
NP2
R )

&K @

¢ Ve S PRS0
Jieb
2o

dy A3

Jj “4)

¢ &L nly SO ER L
<7 (1)

SE

w3

ayf‘bj’ 4)
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124

.125

.126

[26]

4&%@%&)&}& et QY 121

¢ LJ’T&

de

sy Q)
S4B

&F @

¢ ‘L(}‘e&l‘ac‘./ g_[f ’
£

O @
L3

g (@)

Y SR S I e
Fer (D)
Sy @
sUI 3

dietf @)

.122

.123



¢ plne #E U
I3 (D

YAe)

NG

i @

¢ o Sl I e e

SUTEF ()
SAEL @)
Gz 3

By 2P A (4)

¢ +x};;/lK&QJ/JugJ/ RSl
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s/
Gk @
e (3)
$o@

.130

.131

.132

[21]

[A]

?‘ax/“»ﬂt{&g@/ugjf G121

die

(D

2)

3)

4)

¢ é;ftﬁ&fd}bjzs .128

}J/TUG
ﬁdvlj"
A

203 AP

)

2)

3)

“4)

¢ ‘guﬂgf,li, “Lgféiug/fd"/.djgw" .129

SV
SEAL
IRIS)

Bzl

)

2)

3)

4)



[A]
¢ e B

Zoinp (1)
i
s G

cu&x_/é_ﬁ 4)

¢ el g
AN ()
S@

Ji (3

s @)

¢ urdbde e $as U dusy

B )

SENG)
20
Jv @
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.136

131

.138

[28]

?éiUQQ:U6QNVMﬁ;L£

e )
Szl ()

VI E)

S @

te b e L
VA ()
okl ()
ST 3)

bzl (4)

¢ Dol b DU/ G
TEN(Y

BET e

JAEL (3)

SN

.133

.134

.135



[29] [A]

e Pl ﬂ%fu%u@td;@p .142 ¢ pFUL ‘Ji/;’ 5 .139
¢ S _
- PEJIN(Y

PE

S @
Frs 3
Seff @

Wasdut @
2 3)

e, @

L3 ity ¢ e i dSU T bbyey 140
?%JKKU/U'LJ iyl .143 - JJ’)JCJQ ,

) sk dE )
Sz (D)

) Slirets ()
Sxduzl, ()

Snbalk 3)
By A3)

{ b @)
uwagd )

Lgﬂ/zj.ﬁiurbfg&;f# .144 ?‘kar@‘-/ “‘L/J/.uw/;”(y .141
¢ YISk y
) S
=W
. FEF
)
S B S o

JE @ S @
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[A]
¢ e bS Bl WK

LT
e )
L 3)

r @

ERCS /AR AN AINS
S ()

e @

M Fd? (3)

s ()

L::S;}?‘L;JL@%KZLJTJ&:;J;@V’
¢ o S e

Jzele (D)
digm;v 2)

/}g’jb}c/ 3)

ST )

.148

.149

.150

[30]

¢ e s K SEL U e B

CTrs (D)

Bl (@)

SieP (3)

;/ju;’ 4)

Cee U Koo o
A

U ()
Wi 3

S @

¢ Wb Sg bl
e (D)

Vords @

s 0)

i @

.145

.146

.1417

Level-2/205



% %4 3 T (FOR ROUGH WORK)




R @& @
IR TF F T GHE B X 3§l SR IR T H
Sl

N
6. Answers to questions in answer sheet are to be

given by darkening complete circle using Black ball
point pen as shown below :

© @ ® ®

The answer will be treated wrong, if it is marked, as given

below :
0 ® & @

If you fill more than one circle it will be treated as a
wrong answer.

10.

11.

12.

13.

14.

15.

16.

11.
18.

19.

20.

. 9l I 390 OMR I TF T & ik H T IT AFYI

J
. 6 FE -G § 39 WM & [T & T @i e W 8 #X (Rough work should be done only in the space

provided in the Question Booklet for the same.)

SR | I To@ o W o1 (ThE TYS) BTN
s &1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener
(white fluid) is not allowed for changing answers.)

. T% 99 & 0 RU U =R fowed § § S fagcg & T OMR ST % W #ad 06 99 & & T TE & a9 @Re 0

¥ T TP IR IX Sifhd B B 9% 39 Sea Tel o Gl ol (Out of the four alternatives for each question, only one
circle for the most appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer
Sheet. The answer once marked is not allowed to be changed.)

orepelt giafe #X 6 59 I T B AT T MW T I W FHE AF NN F_FMC, el ST TS X T A
i wm & sfaRed o= 71 foEh (The candidates should ensure that the Answer Sheet is not folded. Do not make
any stray mark on the Answer Sheet. Do not write your Roll No. anywhereelse except in the specified space in the
Answer Sheet.)

- T4 I T B ANGEF T B, Fis B A Rk § (I97-gRam o R % § FHE § e @ Rafy
& W) {H’ﬁ g W e Iuee T WI% Wﬁl (Handle the Question Booklet and Answer Sheet with care, as
under no circumstances (except for discrepancy in Question /Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

HQ‘I—W/W =% ¥ R T wEie B Tl 9 ade A ewe) 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

afl # oen S/ § TR W iR TeuN gd ofoRe Rl ser @ argg-are, gd o swiad s & afr,
JoR, MeEA B, gosli-es SUBT A Rl of J & &/l %l & S a1 IWN HA @ A 7@l 81 (Candidates are
not allowed to carry any textual material, printed or written, bits of papers, pager, mobile phone, electronic device or
any other material except the Admit Card and Identity Card inside the examination hall/room.)

e B U8 9N W uE ot STl Jas i (A o) iR wgAM U R@M| (Each candidate must show on demand
his/her Admit Card (Roll No.) and identity card to the Invigilator.)

FE e AT THAEE B A OTAN S [T Pl TRl YT WM 7 B! (No candidate, without special permission of

the Superintendent or Invigilator, should leave his/her seat.)

PR JHAEE B AT IR T [0 [ T sWER G W ASRT sERR Ry faer erwd) wlen g T8 seh Ak e
el 7 gAY 9R SWER 9 W SWRR e R a1 ¥ A e f 3ER I i e e’ & R T HET &
A AT STCT OMR SR O & Feiia @M W ol ol e o ey & oS & e e S 21 S &
MM 10 999 59 99 W SF @ ] % @ @@ Aer § & 0 A el @Rt B AR T o 959 ot o 9 7 &
¥gd P4l (The candidates should not leave the Examination Hall without handing over their Answer Sheet to the
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified which
should be properly inked i.e. they should not be either over inked or dried in nature.)

s%aa’rﬁzs/waﬁa et B SYART afstd %I (Use of Electronic/Manual Calculator is prohibited.)

TR 2 F TR & U, TRl feRlE & & T ukk/Ren-fRw 7 98 & o e @ e @ Ry ee W@ sgRa
et & wf T & daa S » e wd e @ R (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

fepelt e HQ:T-S]:FIEH IR T =% Eﬁg AN T I B (No part of the Question Booklet and Answer Sheet shall
be detached under any circumstances.)

TUE qO BN W, TRl F/2 Bled § [ S T H-THAEE B oA A A1 AR A0 6y 39 9e-gRAH B A

S e R (On completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the
Room/Hall. The candidates are allowed to take away this Question Booklet with them.)



Level - 3 HTET Exam., - 2021 Set: A
PGT : For Lecturer

Sub. Code No.: 305 URDU Final Angwer Key
Part: | Part: Il Part: Il Part: IV Part: IV
QN. Ans. QN. Ans. QN. Ans. QN. Ans. QN. Ans.
001  (4) 031 (2 061 (3) 091 (2) 121 (@)
002 (3) 032 (4) 062 (1) 092 (3) 122 (3)
003 (1) 033 (2) 063 (3) 093 (2) 123 (3)
004 (2) 034 (1) 064 (2) 094 (2) 124 (1)
005 (1) 035 (4) 065 (1) 085 (2) 125 {(2)
006 (2) 036 (1) 066 (4) 096 (4) 126 (4)
007  (3) 037  (3) 067  (2) 097 (1) 127 (3)
008 (3) 038 (2) 068 (1) 098 (2) 128 (3)
009 (4) 039 (3) 069 (4) 099 {(2) 129 (1)
010 (3) 040 (4) 070 (4) 100 (2) 130 (2)
011 (2) 041 (4) 071 (3) 101 (3) 131 (1)
012 (2&4) 042  (4) 072 (1 102 (1) 132 (3)
013 (4) 043 (1) a73\, *(2) 103 (1) 133 (3)
014 (1) 044  (3) 074 (3) 104 (1) 134 (4)
015 (3) 045 {(3) 075 (1) 105 {(2) 135 (2)
016 (") 048 (1) 076 (1) 106 {4) 136 (3)
017 (1) 047 /(3 077 (4) 107 (2) 137 (1)
018 (2) 048 (3) 078 (4) 108 (3) 138 (3)
019 (2) 049  (2) 079 (2) 109 (1) 139 (4)
020 (3) 050 (2) 080  (3) 110 (2) 140 (1)
021 (1) 051 (3) 081 (3) 11 {(3) 141 (3)
022 (3) 052 (1) o082 (3) 112 (1) 142 (2)
023 (2) 053 (2) 083 (2) 13 () 143 (1)
024  (4) 054  (4) 084 (1) 114 (1) 144 (3
025 (2 055  (2) 085  (3) 115 (2) 145 (1)
026  (4) 056  (3) 086 (1) 116 (3) 146 (1)
027 (3) 057 (4) 087 (1) 117 (1) 147 (3)
028 (4) 058 (2) 088 (2) 118 {(2) 148 (4)
029 (1) 059 (1) 089 (1) 119 (4) 149 (4)

030 (3) 060 (4) 090 (2) 120 (3) 150 (3)
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